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Question Label : Multiple Choice Question

It 2k + 1, 6, 3k + 1 are in Arithmetic progression, then value of k is :
A& 2k + 1, 6, 3k + 1 FAFTI A0 # B, a1k & A9 SFT
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1@ 2
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If A(1, 2), B(4, 3) and C(6, 6) are the vertices of a parallelogram ABCD, then the
coordinate of fourth vertex is :

qid A(1, 2), B(4, 3) @1 C(6, 6) FAMRIT =qyd ABCD % @ s fag &, i =en
Options :

% 25)
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Question Label : Multiple Choice Question

If the sum of n terms of an A. P. is 21+ 5n, then 2nd term is :
m’aw%ﬁ%nqﬁﬂmzn%&:%, ar fad™ 92 Bnm o
Options :

1. # 7

2.\_/1]
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3. %

At
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Question Label : Multiple Choice Question
A bag contains 40 balls out of which some are red, some are blue and remaining

and it blue ball is l

are black. It the probability of drawing a red ball is

then the number of black balls is :
TF I H 40 W ? e 38 AW 1 91 e, 38 A 1 A e F 89 W1 A
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Options :

1.%5

2%
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Question Label : Multiple Choice Question

A series of even numbers of 2n terms is arranged in ascending order. The median
1S :
2n Bl IF 9H SETA F 95d &F H§ Sdned A T E, 91 2991 AeEE 26
Options :
nth term

L ® ndl ¢

(1 + 1)th term
5 % (n+ 1Al Ig



i

n+1
W

‘ th term

Mean of nth term and (n + 1)th term

4 @ MATT (n+ )3 T F AE
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Question Label : Multiple Choice Question
In an A. P., the first term is 2, the last term is 29 and sum of n terms is 155. Then
the common difference of the A. P. is :
U FAFEFGT 49 d WoH T2 F UF oA U2 29 F @ WM n W&l @ &1 6 155
Options :

1

1. %

2.%32

3.9

g w4
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Question Label : Multiple Choice Question

The roots of the quadratic equation 2x? —x—-6=0 are:
Tgad JHE 2x2 —x—6=0 % ¥ Bl
Options :



1. %
5 3
2. * 2
5 3
3. % 2
5 _3
4.9 2
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Question Label : Multiple Choice Question

Find the value(s) of &k, if the quadratic equation 3x2 —k+/3x +4=0 has equal
roots :

o5

TEHId ®HEAY 3x” —k3x+4=0 F §7 90T &, o k F A9 G F
Options :
s =)

1. %

I+
(3%}

3% £3

1.0 E4
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Question Label : Multiple Choice Question



Find the value of sin 38° — cos 52° :
sin 38° — cos 52° 1 A §1d &1 :
Options :

w90
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Question Label : Multiple Choice Question

If two positive integers p and g are written as p = a’b® and q= a’b; a. b are
prime numbers, then LCM (p, q) x HCF (p, q)=.... ?

e 3 gTTF HE p TN g F 99 @l &8 p=a’b’ @M g=a’b; 76l a T b
AT @ F, @ Fo Ho To (p, ) x Fo Ho To (p, q)=.... 7

Options :

I.WP
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Question Label : Multiple Choice Question



Reena walked from A to B in the East 10 feet. Then she turned to the right and
walked 3 feet. Again she turned to the right and walked 14 feet. How far is she
from A ?

{91 39 &1 @ A § B 10 BT &l 21 {67 a8 3 % gdl 8 ) 3 B w0
Bl T 98 T° AR gl & AR 14 BT Fodl 81 A a8 A G el 30 W 7

Options :

24 teet

3 % 24 ]iT

27 feet
4 % 27 HIC
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Question Label : Multiple Choice Question
Arun said, "This girl is the wife of the grandson of my mother”. Who is Arun to
the girl ?
AL 7 FoEl, g8 ©l HU Al F UF F U 31 6 99 41 a7
Options :
Father
| % Tl

Father-in-law

2. v T8

Grandfather
3 % alal

Husband
4 % T
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Question Label : Multiple Choice Question
A girl facing north rotates 100 (degree) clockwise then 190 (degrees) anti
clockwise. What is new direction of the girl ?
Th ®l T 4l AR g@ B @il & 100° 730 # e A I & e g
190° 931 %1 el fasm # Hil 81 A9 a8 59 G 4 & ?
Options :
North-East

| x SOt

West

2.‘/‘1T9€|'F[

South-East
3w ST

South

4, -
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Question Label : Multiple Choice Question

Choose the word which is least like the other words in group 7
IH 9@ F U A §HE & gHL 9@l § FH H FH UH q9F 8 7
Options :

{_Zfalender

= T
C
:irE\ X4

1. ¥



Month

4 % &

Question Number : 15 Question Id : 5934528572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the word which is least like the other words in group ?
39 9/ & g S §HE & gAY S@l § FH H FF U5 q9F © 7

Options :
Zinc
| x ST

Aluminium

Mercury
3¢ T

Copper

4.*‘“‘13‘1?"-I
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Question Label : Multiple Choice Question



Choose the number which is different from others in the group ?
SH HE # Y Sl 9YE § gHU H§ AW B 7

Options :

s
1. ¢ a2

, % 81

_ 243

4 w729
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Question Label : Multiple Choice Question

Three of the following four are alike in a certain way and hence form a group.
Which is the one that does not belong to that group ?

M= A H § OF 0% %8 § 3 2K UF 998 o1 & 1 § %F 99 998 4 78 & ¢
Options :

, o 3249
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Question Label : Multiple Choice Question



In a certain code language COMPUTER is written as RFUVQNPC. How will
MEDICINE be written in that code language ?

el gz W # COMPUTER & RFUVQNPC @ @ &1 36 ¢ wor
MEDICINE #1 ## feral sE ?

Options :

1 ® MFEDIJIOE

, % EOJDEJFM
; » EOJDJEFM

, % MFEIDJOE
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Question Label : Multiple Choice Question

If ROSE is coded as 6821, CHAIR is coded as 73456 and PREACH is coded as
061473, what will be l_he code for SEARCH ?

If¢ ROSE & 6821 § #E [ =@ 21 CHAIR & 73456 @21 PREACH I
961473 § #I3 141 9T &, @ SEARCH & %9 I a1 =& 7

Options :

L% 246173

L« 214763

3 o 214673

4 % 216473
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Question Label : Multiple Choice Question



It Z=2197 and R = 729. How would J be written in that code ?
qi¢ Z=2197 @M R =729, @ 24 #I3 H I &l & fer@n ST ?
Options :

216

1. % =
5 o 125

3 % 124

4 % 512
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Question Label : Multiple Choice Question
Which of the following diagrams indicates the best relation between Females,
Doctors and Patients ?
F A PF-A1 A Ao, et @ AO9 & gl B q9d 8T & gardl

B !

;’/ﬁ_ﬁ\ //,/;T\‘\\ P 7 ?{ = =
(A) (O O} (B) | \__/ | I\h_ ey o (D) f %
e W WiEy P

Options :
1% A
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Question Label : Multiple Choice Question

Which of the following diagrams indicates the best relation between Doctors,
Teachers and Engineers ? )
F N G | o I 2 s =1 o 1 2 e T = 5 e S e 53 B e

e ® 7 -
2 Y

=y — / I

(A) @_j" {__} (B) {._@_) (C) {E} al (D) \\_i_%_ﬁ

. == sk

Options :
1. ® A

2. ¢ B
3.%(:

4. % D
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Question Label : Multiple Choice Question
If air is called green, green is called blue, blue is called sky, sky is called yellow,
yellow is called water and water is called pink, then what is the colour of clear
sky ?
S BT & &, B Bl A, A P AHE, DS H G, G BOTE T AR
I IAIE FET A 8, dl FEE AN T DE 7
Options :

Sky

Blue
5 % S

Yellow
3 % W

Water
4. S 1:|_|7ﬂ
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Question Label : Multiple Choice Question

If E=5 and READ is Coged as 7~_then what is lpe code of DE{%R ? ,
¢ E = 5 @ READ &I 7 § FI3 &4 9l &, df DEAR & o0 &1 Fi3 [
ST 7

Options :

| % 6
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Question Label : Multiple Choice Question

It train is called bus, bus is called tractor, tractor is called car, car is called
scooter, scooter is called bicycle and bicycle is called moped, which is used to
plough a field ?

qfe 39 @1 99, 99 B 24T, cael B BN, PW F het, el B GRbd o0

Options :

Train

L% &7

Bus
2 % Y



Tractor
2

Car
4.«
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Question Label : Multiple Choice Question

In which of the following pairs the two species are nof isostructural ?

Fe gl # | e SF gl @ §AM S de) eidl § !

Options :
CO? and NO;
.'__}I_ I:i-'d". _
| COi™ #IT NO;

PCI; and SiCly
)« PCls AR SiCly



PF5 and BrF;

Lo PFs AT BrFs

AIFZ™ and SF
4 AIFg 3T SF
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Question Label : Multiple Choice Question

Which of the following molecules/ions does nof contain unpaired electrons ?
e VA § hEH AR end e e § 7
Options :
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Question Label : Multiple Choice Question

Among Al,O5, Si0,, P,O5 and 505, the correct order of acid strength is :
AlLO5, S5i0,, P,Os AR SO, # 1M §1T H1 &2l &H o °
Options :

ALO; < Si0y < SO; < P05
1. * ' : W e



Si0,< SO, < Al,O3< P,0s
504 < P,0s < Si0, < Al,Os
3. u - s r4 -

Al,O, < 510, < P’]GS < SD-;
s T2 B -
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Question Label : Multiple Choice Question

Which one of the following molecules contains no m-bond ?
= el | | fEH naw 78l Bl e 7

Options :

NO,

1. %
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Question Label : Multiple Choice Question

Which of the following structure is similar to graphite ?
= ® ¥ (583 8= JBEe $ O¥E Bl § ¢

Options :

. = B2t

. B,0;
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Question Label : Multiple Choice Question

Which one of the following is an outer orbital complex and exhibits
paramagnetic behaviour ?
M=l | | 39 UF 989 589 S99 ¢ aFl AJgESE Sae Bl § 7

Options :
=

. Ni(NH )]

, » lco(n el

-

lcr(vH) [

. [zn(vH) |

Question Number : 32 Question Id : 5934528589 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is a mineral of iron 7
M= # | B qle B 0 e § 7
Options :

Pyrolusite

1. ® L i i



Magnetite

2.\'--f"ﬁrﬁr{lg?‘r

Malachite
3 % HEEEE

Cassiterite

e

b j-" iI_ '. g-_,

4.
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Question Label : Multiple Choice Question

When 52032_ oxidizes Fe”", then product formed is :

o

79 5,05 AFEFEd Al € Fe?™ #l, a9 M9 S0 991 B ¢

Options :

y
| 5,04

SO%
2
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Question Label : Multiple Choice Question

Out of the following, which one does not liberate N, gas on heating ?

M= # | &9 T $ T N, 6 Sdid 78 Fl & ¢



Options :

| % NaNO, +NH ,CI

Ba(N;),

2. %

3 GE + NO
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Question Label : Multiple Choice Question

Bonds present in NH; and CCl, are respectively :
NH @R CCl, # 39ReId I AT
Options :

Covalent and ionic

LR G e M O

1. ®

[onic and covalent
5w ATNE T R

Both covalent
3 Gl HEEAES

Both ionic

g, e IR SSRGS
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Argentite is a mineral of :
HAaAverze fhed G & ?
Options :

lron
1. = e

Copper
o, w Il

Silver

3. v T

Aluminium

s

4, ® SCIHIEH

t
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Question Label : Multiple Choice Question

Which of the following is structurally different from the rest 7
M= H H B HEAAE & F Jidl 8 S i 8 7
Options :

XeF,
v 4

). % BFs

CH,

3. %

+
4. % NHj
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Red Lead is :

3 o3 ([F3) 2ian & :

Options :

| % PbO

. PO

. o Pb0,

4. % Pbﬁoi
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The characteristic of thallium to exhibit more than one oxidation state can be
correlated with :

A ©F § ANF AFEO AT IS 2 29 Y0 A A Ed q
Options :
inert pair effect

| T T e

atomic radius

electron affinity

3 s ECACIT SR

amphoteric nature

4 % ST
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Chemical formula of phosgene is :

Options :
PH,

1. #

, « PCly
s = POCL

4 v COCl,
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Electrically neutral charged dipolar ion is called :
fgd & § el A f@gdig AFT i wel S @
Options :
Amphoteric ion
1. % SRR

Zwitter ion

2.¢

Lewis acid

Anion

4 x FOTA
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H}dm]} sis of Table Sugar ont,s
e §FTC &l EEEIEE odl o
Options :

Glucose and Fructose
1 .—:. :_'. \"_-’l'_'-,\‘
o TP SN T

Glucose and Maltose
TR AN A

Glucose and Dextrose
S AN SFAE

G'ihctose and Fructose
BIGEEERT 5 EIF'IEI
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lodoform test is given by :
AFRHH & 5% g e F & ?
Options :

P CH,CH,OH

, « CeHsCHO

. CH3CH,COCH ,CH;

. HCHO
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Question Label : Multiple Choice Question

The geometrical isomerism is shown by :
AT FHEIA Z GE T T
Options :

1,1-diphenyl-1-butene
| % 1,1-3RMGIES-1-9CH

2-phenyl-1-butene

5 % 2-TETEE-1-FE

2-phenyl-2-butene
2-hET-2- 3™

3.¢

3-phenyl-1-butene
4 s 3-TEIER- 1-2CH
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Question Label : Multiple Choice Question

The secondary alcohol is easily converted into a ketone by the reagent :
T&dm® AEd AEMl § FHied # UHaiid @ ad & U ATEHE g

Options :
Al(OCHM e, )s/isopropanol
| w AI(OCHMey )/ S8

Al(OCMes )z/isopropanol
, % AlOCMes)/ AREHTIS



Al(OCMe5);/acetone
3 « Al(OCMey);/UEEN

Al(OCHMe, );/quinine

, = Al(OCHMe,) /T
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Question Label : Multiple Choice Question

The product ‘A’ of following reaction is :
Feiaiad AfE &1 30 ‘T 8
COOEt _
CeHsCHO + H,C d P
COOE:
Options :
L CeHs;CH =CH - COOH

CH;CH =CH - COOH

2. ®

. CeHsCH =CH —CHO
3. b

 C4HsCH = CH,0H
4. % =
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The configuration of following compounds is :
0C,Hj; COOH

(i) H+C£ (i) O,N——OH

CH, CH;
Options :
Rand R
. oR AR

Sand R
5 % SHAMTR

Sand S
, x SHNS

Rand S
L % R #ATS
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Question Label : Multiple Choice Question

The structure of (25 3R) 2-amino-3-hydroxybutanoic acid is :
(2S 3R) 2-3THFI-3-ER AN TS F1 §8l = ©

Options :
COOH
H,N——H
HO——H
CH ,



COOH

H,N—{—H
H OH
) CH,
COOH
H—|— NH,
H— OH
_ CH,
COOH
H—|—NH,
HO—TH
4. % G,
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In the following reaction the expected product is :
F=iaiad Hidiear # STfEd Sde @
CH,CH=CH, —=23 , 9
2.H207/0H™
Options :
Propan-1-ol

L IO 1-ATed

Propan-1-al
) w T 1

Propan-2-ol

o w T -2-30



Acetaldehyde
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Question Label : Multiple Choice Question

Hopkins-Cole Test is used to identify :
s e o i e 2 B 1 B ot e 2 e 0 L 2 |

Options :

Tyrosine

b - -\..\I !rll

1. %

Urea
2. % I

Tryptophane
3 @ ISEie

Hemoglobin

» ':;l 1 £ l‘ E
4, %
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Fermi is the unit of :

Options :

Length

| TR B

Mass
 ZEAN #
2. %

Radioactivity

% i _FI_
y ?\ ‘E_.Il H El:-.l'l ﬂ_ | f ‘)
3. %

Energy

5, 8

-~
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Question Label : Multiple Choice Question

Which of the following is a vector quantity ?
P # P Eies i E 7

Options :

Energy

Hal

1. %

Angle

2. %P



Angular Velocity

3. DA o

Speed

4. % T
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Question Label : Multiple Choice Question

A man of mass m sitting in a cage measures his weight while cage along with
man falls freely under gravity. The weight recorded by man is (g-acceleration
due to gravity) :

m ZEFH F U &g UF ot § o AT N YAl § Aeie e ARH
TR B

Options :

mg

mg

1. #

0
2.v 0

More than mg
; % MgH AN
Smaller than mg
4 % MgH PH
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Question Label : Multiple Choice Question

The path of a projectile is of the shape of :
FFEl U8E & 9 & AR B ©



Options :
a parabola
R ARAGERIEN

a hyperbola

a circle
3 % ERIEZR
an ellipse

4 ®om jq \-"q.l' 5
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Question Label : Multiple Choice Question

An engine developes 10 kw power. H:j:nw much time will it take to lift a mass of
200 kg to a height of 40 m (g = 10 m/s™) ?

10 kw STRT aTel 279 &1 200 kg 26999 F 40 m 1 H9E % oM § fhaa 599
GEUI (g=10 mfsl} >

Options :

[ % 48

, % 38

35

. 10s
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Question Label : Multiple Choice Question



The escape velocity from the earth is 11 km/s. The escape velocity from a planet
having twice the radius and same mean density as the earth is :

gl | TEEE 4 11 km/s ©1 UF T8, fAEa B g @1 @ AR dEd
gedl @ U &, § TWEA AT Bn

Options :

|« 22 km/s

) % 11 km/s

3 % 2.0 km/s

4 % 165 km/s
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Question Label : Multiple Choice Question

The value of g at any place decreases by 2%, barometric height of mercury :
Options :

increases by 2%
| v 2% RNl

decreases by 2%

2% HC WA

2. %

remains unchanged

3 % AU {didd o

may increase or decrease
4 % 9% I °C Tl B
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Question Label : Multiple Choice Question

If temperature of a gas is increased from 27°C to 627°C, the mean square
velocity of molecules of the gas becomes :

¢ ©F W & a9 27°C § Fe@d 627°CH &F & 2, df ™ & AGAT &
1122 £ B O
Options :

3 times

Lo 23T

«E times

2.53"@-]1:”

0 times

3% O TT

5 times

g % 20T
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Question Label : Multiple Choice Question

The internal energy of an ideal gas depends on :
Options :

Pressure
% @& W

Volume
0w HAMEIT WY



Temperature
3 @ O T

Molecular size
4 Y F FAFE W
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Question Label : Multiple Choice Question

t T
An object executes SHM along x-axis given by x= 2cos ! : 2/ ] where x is in
metres. [ts maximum acceleration is :
—— s T g 2 3 (L. 7)) o5 ¢ o 7 3
Iptil el Hidd flid digl] deg bl I 5, x= 2{:05_;-%1" vigl x Hio H F,

THET AT @ §
Options :
» 0.05 m/s”

b

2 m/s-
4
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Which of the following is a mechanical wave 7

Options :



Infrared waves
| % AR qd

X-rays

Microwaves

=, =,

Ultrasonic waves
4 v TUFS qit
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Question Label : Multiple Choice Question

In given combination of capacitors the capacity between A and C is :
HTG & % T #@9 § A AR C & 499 91l &

2 H\Ef 2 uF
A T3MF >——0c
f@«
2uF 2 uF
B L
Options :
1. % PH
2. % R
2UF
3.¢ H
5
4, % pE
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Question Label : Multiple Choice Question

A metal sphere is charged with a charge . The radius of sphere is R. The
electric field at a distance r < R is given by (r is distance of point from sphere
centre).

TH oG F W Q A § AT HA T B W H R B r < R W
aF B (r T B 9 fag @1 gl B) BRT

Options :

0
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Question Label : Multiple Choice Question

In the combination of resistanes shown in Fig., the resistance between A and B is :

Fl & st wicliel & 4o # A AR B & o giale ®

R R
AWWW—T—WWW—

=
£R
=
AV ——A -.“-.5-.-"‘
A -.r]:\:"!,.m
A./' VWY \\
B

Options :
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Two bulbs of 40W and 60W rating at 220V are connected in series to 220V
supply. The combination has rating :

220V T 40W AR 60W & I Ied I § F=HT 220V F FHE § #A2 ™ T
HATT 9 ©

Options :

L 24W

, s 100W

20W

3.% @

4 % SOW
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Question Label : Multiple Choice Question
In the Fig. shown the magnetic field B at the point O is given by :

WY 7 H fag OW =4 &9 BE ¢

%‘:IE
%—|\ g T
4
7
Options :

L)
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At equator the dip angle is :
A T@ 9T i o7 Bl B

Options :
90°

1. =
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In an AC circuit a resistance R = 40 is connected in series with a capacitor of
reactance 302. The circuit impedance is :
% AC IO H TF 4Q I Tild TF 3Q HiceardT ad g4 8 40 9§ 53
gl 9T & Ofoern 3
Options :
7€)

1. %

12
T

2. %
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Dimension of pgy=q is:
Hoso 1 T & -
Options :

i i

i
2.



(98]
%
~ | b~

~ 1~
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Question Label : Multiple Choice Question
Which of following has zero rest mass ?
= H e I g g B Y
Options :

Electron

1. % s

Neutron

) % TET

Positron

Photon

-

4 v TR
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Question Label : Multiple Choice Question

Two waves of amplitudes 5 and 2 units interfere to produce maximum and
minimum intensities in ratio :

AT I Bl &
Options :




s % 29:21

[
Lhn
.
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Question Label : Multiple Choice Question
Penetration of light into geometrical shadow is called :

A BT § TEIST F UdsT Feal B
Options :
Polarization

| = B

-

Interference

). % FAHT

Refraction

Diffraction
4, 19T
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Question Label : Multiple Choice Question
Red colour during sunset and sunrise is a result of :

=



Options :
Refraction
], % STAX

Reflection

T

TTIdd-
2. %

Interference

~
r|
Eq \ 1-\.“

3. %

Scattering

g0 1P
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Which of the following is semiconductor ?
M= # #F rdEes o
Options :
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Question Label : Multiple Choice Question
Energy produced in Sun is due to :

o 7 Sl % e # F

o

Options :
Nuclear fission

- Bl E PR CIELES]

Nuclear fusion

Chemical reaction

s TEEMS AT

Collision of particles

4w PO g
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If R* is a relation on the set IR of real numbers defined by
(a.b)e R* = 1+a’h’>>0%a, be R, then R* is:

9T ddds Al & =9 R W w §<9 R
(a,b)e R* = 1+a’b*>0va, be R, 37 oot &, @ R* & :

Options :

Reflexive and symmetric but not transitive

Reflexive and transitive but not symmetic

g AT HFAF [Fg | o0

2. ®

Symmetric and transitive but not reflexive
|iFd AN GoHd [Hrg M e

3. %



An equivalence relation

s v T T F
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| x|

If a function f:IR — R is defined by f(x)={ w0 and g: IR — Ris
0, =x=0

1, {]a_:_;-{l
3

defined by g(x){—1. %E x <1, thenf+ g is discontinuous at the points :

(0, otherwise

1x1

7 TF BeH f:R - R f=17%" x#0gmr qfimfg 8 @ ¢:R - R,
1D =0
( 1
I, Osxo—
2
_ 1 {: . }_-Iﬁ_j (i ?_ - i~ L '-ii' [ . % .
g(x)<{—1, 5__1-:1 arl Mg 8, d f+ g MR [§gdl 7 A8Gd & ¢
0, AT
Options :
0,41
LY 2
D.lj
o,
2. % -
0,L3

3. %
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_ | y
If £ {L: — R and | 0,

I 1

f(x)=sin x Vxe {[L §:| g(x)=cos x Vxe [D. §:| ,then f+g is:

ro | =

J — R are defined by

J.

=

qi< f:{ﬂ.%‘%lR AR g:‘ﬂ. §:| — R, f(x)=sinxVxe |:D.

]
—

|

g(x)=cosx Vx

im

Lﬂ,g}mqﬁﬁﬂﬁﬁ%,ﬁaerg &

Options :

: |
One-one, continuous on |:0.. E:|

T

A, T {0.%

1. ®

-1

: T
MHH}-’—DHE}. continuous on |:0.. ;:|

i P :
.:.-*—]'_‘I%:fw, Hdad | 0. ;j| 'LR

2. .

: : [
One-one, discontinuous on {O, =

=
s

- m
Ucheb], HHAT {[L —:| g7

3. %



Many-one, discontinuous on | 0, %—‘
P W T & o |_ I':_!
Hehdhl, dHdd | 0, — | i

2]

4,
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It f (0, 20) = (0, o) and 2:(0,00)— (0, 0) are defined by

f(x)= l Txe (0, 00), g(x)= Lﬁ Vxe (0, c0), then ¥xe (0, o) :
h 4 i

X
IS £ :(0, c0) — (0, o0) &N g:(0, o) — (0, co)
Lo 1 ; TR -
f(x)=—Vxe (0, 00), g(x)=— Vxe (0, =) M TREd 3, d@ Yxe (0, oo) B :
X
Options :
fog = gof
1. ¥

, u 2(f08)= gof

~ fog =3(gof)
3. %

., dfog)=gof
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If f:(0, 00) = (0,00) and g :(0, c0) = (0, co) are defined by

f(x)= e (0, =), g(x) z% vxe (0, =), then (fog)(x)—(gof)(x). Vxe (0, ),
iS ! )

DITS f:(0, 0) = (0,0) AR g:(0,00) = (0,0) f(x)= x*vxe (0, o),
g(x)= :—2*-:-’_:5 (0, co) BRT TRIET g, o (fog) (x)—(gof) (x), vxe (0, m}.% :

Options :

v 0
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M is a set of all natural numbers. An operation * is defined as * : NE X NE% R«JE,
(a,b)* (¢, d)=(ac, bd) ¥ a, b, ¢, d = N. Then * ais:
N |1 Uigfas denat &1 §9= 21 Uh qedl *:N X N — N, (@ b) * (c, d)
= (ac, bd) 7 a, b, ¢, d = N NI Uod Bl ad * B
Options :

Commutative but not associative

1

Associative but not commutative

, w T (v FH AT T



Commutative and associative

3 ' H ir|r|_ 2 afh—,r [ c:ﬂ’j

Neither commutative nor associative
4w O FA [T T @l e
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Define f:IR xIR - IR *IR by f(x,y)=(y,x) V(x, y)e IR *IR:
f:RxR >R *R f(x.y)=(y,x) ¥(x, y)e R *IR ¥ 90T 2 a :
Options :

fis 1-1but £ is not 1-1

f& f'] are 1-1 but f'] is not continuous
- fud f uaal 8 g f'Had TE

f& f"i are 1-1 but f1s not continuous

oy f W AR A f EA TR

F &f_] are 1-1 and continuous

o [ 7 a2
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it O<x<ml2 and

i P [ J1+cosx ++/1—cosx ]

| 4/1+cos x —+fl—cos x |

A V1+cosx ++1—cosx | .. in .
B=tan"' 1", 1", if t<x<—.,thenA + Bis:
| /1 +cosx —fl—cosx | 2
A 1+cosx ++/1—cosx | , P
DIES A=tan'| = E: BIC D< x<ni2 AR
L 4/l +cosx — «.ﬁ— COS X |
[ J1+cosx ++/1—cosx | In
_ WViT : W1 . s -~ <
B=tan" f : ‘ﬂﬁ?ﬁi.x‘-ﬂ—.ﬂTﬂﬁ-B%:
L 4/1+cosx —,f/l—cosx | 2
Options :
T
1. % 2
m
2. %
|
3. % 4
Not defined
4 o T e
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] % i o B W (i % i - .
If tan”' | = ‘+2tan ' [— I—lan l | — |—1an E | = ‘2—, then x is:
4 J 5 4 6 ) \ X 4

Fa
I

I7¢ tan [&| +2tan” |

[ (1 1\ = _
— |+tan [‘—‘Han L‘—‘:J—.EIETI% ;
5 ) L6 L x) 4

Options :



1. ®
461
2. % ?
461
9
3.¢
_a31
48 9
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Question Label : Multiple Choice Question

[ x+3 z+8 2y-7 0 +6 3y-2 E
1 3} O
s =i @ |=] 8 -8 Zc‘—.:.thenr }15:
X ¥y Z
| b—=3 3b z+2c| [26+4 -21 0O L7 o
| %453 548 zy—?" 0 +6 3y-2 )
. . la b €|_
e ldx+6 a-1 0 |=| 2x -3 Ec‘+:’_~EIT{ l%
x ¥ gl
| b—3  3b :+ch [2b+4 —-21 0 B %0
Options :
[ T, S
T
R -
ol A
iy o3 =9
2. % - =
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Question Label : Multiple Choice Question

T . T [ i T[—‘
COS — S§in — o |Sil— —cos—
The value of cos — 4 4=+5in— 4 4 | is :
41 T | 4‘ i1 o |
| —sin— cos— | lcos —  sin— |
L | L 4 4 |
[ ™ T | T L d
H!cos— sin — sin — —CDS—| .
cos — | 4 + sin — 4 Fraa e
4 | T T
| —sin— cos— co05—  Sini—
I 4 |
Options :
{1 0}
1. * A
L o
i 1|
2. % © L
{1 D|
D 1]
3. <
I_D 0—|
% }_D ]_}
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Question Label : Multiple Choice Question

O 8 08 &
1 0 00
If A=|0 1 0 0 0| and A" =I5, then the least positive integral value of
0 0 1 O @
9 0 9 1 4
nis
0 0 0 01
R
M A=|0 1 0 0 0| ARA" =15, T n®H A9 FHF T0F A9 2
0 01 00
00 01 0]
Options :
1. ® 2
2. ® =
3. % 4
4.7
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T . T
COS—— [I5810 ——

H A= ]DTED 100 .then A'™ is:
isin — cos— ‘
100 |
T i s ]
cos — isin——
gl A= 100 100 | G 4! %
' LOATREL ol (i
igin—— 08 ——
100 100

Options :



1LV
i 1
T .
100\
5 % 0 =8}
0 isin_> |
100
3, 0 =]
0 0]
0 1
4, % - -
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_|_|

_ 5 3 [
If A= ; By
1z og| * % |

Options :
L AT-13441,=0
, v AP=12A-1,=0

s x AP-14A+1,=0
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Question Label : Multiple Choice Question

1 2 '0
HA=|3 -4 5|, then A3—14A+'26!3 1S :
g =1 3
{] 2 (ﬂ
1 A=|3 —4 5|,d9 A’—14A+26l, & :
|
!_0 -1 3|
Options :
e 2
2. % -
3.%;3‘”3
s b
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If o, 3,7 are the roots of the equation :

X -6 —1
2 —-3x x-3(=0,
-3 2x x+2

then oo +P+v+100 is:
G o, B,y FHIEAT
: =y =
2 —3x x-3|=0F W&, 0 a+P+y+100 B :

=3 2 ¥EE



Options :
1. % o8

) % 99
3 % 97

4.\;/]{}0
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If a function f:IR — IR is defined by :

i

-

|'E; .
‘—I]+51nx| . x#EAL)

J(x)= ‘._~F}I'¥+1_
| 2 . x=1
Then f(O+0)+f(0—-0)+f(0)1s:
T @ ®H f:R >R :

--I."' ‘I-l L}
gt =17 :
H1l1+sinxl , x=0

f®)= ‘-.%f-”ﬂ .I
1__ 2 i X=10
BN IE 2, @ £(0+0) +F£(0—0)+£(0) 2 :

Options :
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=

J.ﬂ” sin : 1% ,| x+0, g> 0‘
0, x=0

If a function f:IR — IR, defined by f(x)= is

differentiable at x =0, then:

: (20 i ) PO e
MR EE fRSR, @ fy=1" MY 970 g ofenfig
[ 0, x=10

=

g, i x=0 W a3, & ¢
Options :
p=1

1. ®

2.\_"“”,r;r::-]

; % 0<p<l

4 % —oo< p=()
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If a function f:IR — IR defined by f(x)= ‘ o+
0, x=0

is such that f'(x) is continuous at x =0, then:
78 @ B f:R - R

-

i 1 %
_x'rcn::s‘—‘. x£0, s>D

F(x)= 1 \ xT
0 x=1

UE Tied § 6 x=0T £'(x) §4d &, a9 :
Options :

1% —S<r—s5<-—-4

) % D<r<s+1

3 % r=gs+1

4\_?3’::-3-—1
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{ 2% A ] B=i d
If f{x}zsin_lr ‘2 ‘+c05 ! x,, c=l<x<0, then — fi(x) is:
% G ) 1+x° J dx
s i 2-_ y f 1__2 \ )
RIC f{-l')zﬂiﬂ_]| 12 |—-cos_" : |.—1-:-:_r-:f0, ﬂaif(x} g
3 ok Iix ) dx

Options :
4




1

o
| e e

3. %

None of the three

\ o TF A F
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If .‘.:ﬂ') Tl{]{] . {.‘{-!- }_,-}l:-ﬂl‘

dy .
then — is:
dx

x#0,y+0

dy

q-h- .Tj[}:ﬁ'l{}(] =(x+ }.]JECI‘ od ={§_.-

dx
x#0,yz0

Options :
y

4. % YV
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Question Label : Multiple Choice Question

If f(x)=(1+x)A+x?) A+x*) 1+x°) Q+x'°) 1+27%) Yxe R, then f'(1)
i5:

M FO)=A+0) A+xD) A+xH A+ A+ 0+2) vae RT £,
g

Options :

| % 2018
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I Ff@=01+x2)0+xHa+xHa+x%a+x3)@+x*)vxe R, then
F'(0)1s:
AR f@)=A+x)A+xH A+ A+ 20+ ) a+xH e R, @
£'(0) % :
Options :

64

1. %
3.0
4, % 32
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If y=(cosx)(cosx)(cosXx)....00c TXE ‘ ().% | then at x=10, d—1 is :

dx
; : i T[. d‘h =Y
DI y =(cosx) (cos x) (COSX)....00 VX ‘ 0, e ;a9 x=0 90 —
\ £ ) ax

Options :
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If y=(tan x)” vxe| D —' then at x=_, Oy s
2) 4 dx
7i¢ y=(tan x)” _-:—fgi'! EIEH::EQT d}"li_r
. 2) 4 dx

Options :
. % 0
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Which type of ovule is found in 'Opuntia’ ?
Options :
Orthotropous

mpﬂ—;rlwﬁ ]
1. ®

Circinotropous

HUEATEIH
2.¢ '

Anatrapous

e E iy

Amphitropous
U “L HI _:IH
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In which of the following, Nostoc does not occur as endophyte ?

Pt § | ThEd 7T T R & €9 § qd T S
Options :

oy
Ll W |

Anthoceros

T

Zamia

Pinus

4. <
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Which of the following is a bry Dp]l} te 7
Ffaiad § | & 08 JEmEe ©
Options :

Club moss

Foad HIH

Reindeer moss

Irish moss



Bog moss

s, A HE
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The number of cotyledons in Pinus seeds is :
TETH & Wi | fhae SioTee U S ©

Options :
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Pneumatophores are helpful in :
=HehE HeEF B ©

Options :
Respiration

sqdq |
1. ¢



Transpiration

5 s ATIHTT A

Guttation

 fagEEY |
3. %

Protein Synthesis
4 s TN HEITOT H
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Peroxisomes are associated with :
Options :
Plant growth

Photosynthesis
5 s TS HESHOT

Photorespiration
3 o TR ST

Photophosphorylation
HEREEEE

-
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Question Label : Multiple Choice Question

Example of sulphur containing amino acid is :
HERT U AHMT SR 1 38R §




Options :
Asparagine

Proline

5 % JIIN

Methionine

3. v AR

Serine
.\I "'..

4o
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Kranz anatomy is one of the characteristics of the leaves of :
el AN HEE HEET Ul 1 0F THE aE 7
Options :

Sugarcane
1. v T

Mustard

Potato

Wheat
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Methane gas producing field is :
HIoN T 300 F ai dd ©
Options :

Wheat field

1. %

Paddy field
5 T F Gd

Cotton tield
3 % e = Ed

Gmundnut field
. Hedl F Ed

4, %
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Energy transfer from one trophic level to another is :
T Fiitheh saw § EL § Tl Sl @Bl STl 8l 2 ¢
Options :

10%
1.v

5%

o
&

20%
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Fern sporangium burst at :
B Bl ] Zel §
Options :
Stomium
| Sl W

Annulus

. % T T

Operculum

4. u ':—‘ :I\’:._-‘l_':\l .q_“"—
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Question Label : Multiple Choice Question
Cycas and Adiantum resemble each other in having :

FFT Ud glEged UF gH H HEd FR9 99ET B B 7
Options :
Seeds

Cambium

3.8 O



Motile sperms

4. v T 9]
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Question Label : Multiple Choice Question

(9) + 1 arrangement of stemens is found in :
9)+ 1% =0 # o7 e et Fafers o ¥ 7
Options :

Pea
1« Hct

Tomato
5 % CHIET

Onion
3 ® e | %)

Potato

4 ® I,
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Question Label : Multiple Choice Question

Companion cells are closely associated with :
FHET FGEN FEE 9E =7 § g9==T Bd 8 7
Options :

Medullary rays

Cambium
) % T



Sieve elements
3 Hid 2o¥HCH
Vessel element
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Question Label : Multiple Choice Question
Initiation codon in genetic code is :

e #3 H FTEUET FI3H Feard ¢

Options :

AUG
1. ¢

UAA

UAG

UGA

Question Number : 116 Question Id : 5934528673 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Feathery stigma is represented by :

iE d39 alda HEd T © ¢
Options :



Pea

Wheat

AL

Poppy

5 % TTOT (9TET)

Chilli
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Question Label : Multiple Choice Question
Photorespiration involves :

YIS §a99T # e o oo
Options :

Kreb's cycle
| % e =b

CAM cycle

, « CAM 7%

Glycolate cycle

3J‘FIE_FF17’HEE

Calvin cycle

4 w DT TE
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Question Label : Multiple Choice Question
In moss the middle sterile part of capsule is called :
g # B B A S TN de o
Options :
Foot

Ca]t_,m]clla

7. v P

Seta
3. F4 H-l—r_l]-

Apophysis

4, %
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Question Label : Multiple Choice Question
On germination, spore of Funaria gives rise to :
AR & U FF/(F7 PN T A ©
Options :

Vegetative body

| w dEh S

Protonema

2, o T

Prothallus

Embryo
4. % AT

C,
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Question Label : Multiple Choice Question
Which type of endosperm Iormatmn is f::-und in coconut ?
A # 9 TR # O ol ©
Options :
Cellular

He]ohial

Nuclear

3, v IR

Ruminate
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Question Label : Multiple Choice Question

Which of the following is a Saprophytic angiosperm ?
Frafia § 9 A9 T Al AgaEe & 7
Options :

Agaricus

® 51 P

1.

Nepenthes

U

me tropa

- =

3.¢ LI



Psilotum

-
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Question Label : Multiple Choice Question
Fruits of sunflower are example of :
Options :

Berry

-

% dUD

Cypsella

5 o [T B

Capsule

Nut
4% D
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Question Label : Multiple Choice Question

A cross between F; with the recessive parents is known as :
Options :
Test cross

| o O

Back cross



Hybrid cross

Transcription

Question Number : 124 Question Id : 5934528681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Ligase enzyme is used for :
2

AR Tol¥ 9gad 2l &
Options :

Joining segments of DNA
| S T U ZHS & WHiEd H

Spliting DNA
) % 31 T U & fa@esT

Denaturation of DNA
3 ® E-:-I U= G2 ra. ':f,_frlf\ 9 H

Lignin synthesis

4 s TR HEEHT H
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Question Label : Multiple Choice Question
In bacteriophage the genetic material is :
JFAET # wefcs TerE 2 E
Options :




t-RNA
L% AN U T

DNA
2w AT

m-RNA
3 % TH-HAIT T U

r-RNA

4w ACAN T T
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Question Label : Multiple Choice Question
A nucleosome is made up of :
I 9 BT @

Options :
Histones (H2A, H2B, H3, H4) and 146 bp of DNA

v H2A, H2B, H3, H4 &% @ DNA % 146 39 787 |

Histones (H1, 2 molecules each of H2A, H2B, H3, H4) and 146 bp of DNA
H U%; H2A, H2B, H3, H4 B&E & @ H‘JIATU?I DNA % 146 <€ T9¥ §

2. %

Histones (H1, 2 molecules each of H2A, H2B, H3, H4) and 200 bp of DNA
H UF; H2A, H2B, H3, H4 %9 & @ HUI,HUEIDNAZF"DGEFHWH

Histones (H2A, H2B, H3, H4) and linker DNA
, » H2A, H2B, H3, H4 & @1 &% DNA &
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Question Label : Multiple Choice Question
Due to mutation one amino acid may get replaced by another amino acid. Such
mutations are termed as :
Options :
Nonsense mutation

| TTETHE R

Missense mutation

2.¢fﬂﬂ'ﬂﬂ NECGE]

Frame shift mutation

\ x B U uiadE

Point mutation

4. % @iEe Tad
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Question Label : Multiple Choice Question

For a given gene, a diploid individual will contain :
TEivT i § O S e

Options :

two alleles

L, AR ® A

one allele

multiple alleles

tWDgEﬂES
4 % O O @ T H
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Question Label : Multiple Choice Question
The main producers in an aquatic ecosystem are :
BRI IRGSIREAGE I (2 e Ce A
Options :
Large rooted and floating plants

Zooplankton

Phytoplankton
3 PECIEeN

Detrivores
4 23 -'Hj 1 xa ':-"I '\.l
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Question Label : Multiple Choice Question
Which law of Mendel is revealed by monohybrid cross ?
Hew & 0 H@ra 1 AMEEEE 319 % 8N J9EE A 9% © ¢
Options :

Law of dominance
| w A % S @

Law of segregation

5 o TTER F S H

Law of independent assortment
o 0 AU @ HE &

3

Law of heterosis
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Question Label : Multiple Choice Question
In a centrifuge separation of suspended particles is done by :
Miod Fi F HigHe #0 A9 Fd ©
Options :
Centrifugal force

| o ST 99 4

Centripetal force

, w Higiied 99 §

Gravitational force

3w oYY I H

Buoyant density
4 % Svalldd 99 H
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Question Label : Multiple Choice Question
Migration of cancerous cells from the place of their origin to another place of the
body is termed as :
S8 H BNHA & T § I ad ©IH § T ©H W A B Fed
Options :

Metastasis

| HeTEEE

Diapedasis

0. % IAMUSTHE



Necrosis

o |

3 % TPl

Apoptosis
4, % TATGETER
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Question Label : Multiple Choice Question
Which of the following enzymes is used extensively for gene cloning ?
S F A B B 00 ATTSTER UoRA ©
Options :
DNA methylase
[, % S O U [Hemger

DNA topoisomerase

5 % 31 U7 U CIHEAREMS

Exonucleases

..r'-\r'r'.*'.
3. W SRR

Restriction endonucleases
4 EERE TR
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Question Label : Multiple Choice Question

In Urochordata :
TRrEer & :
Options :
Notochord is not present

| x N SUReRT T R ©



Notochord is present throughout the life
5 5 TIEIBIS Silaw %1 & e # ol S @

Notchord is present only in larval tail region
IS Fad @al $ 96 # T A o

3.¢¥

Notchord is replaced by vertebral column
4 w TS FE6h 33 % T H Ia ol &
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Question Label : Multiple Choice Question

Which of the following is the feature of Mammalia ?
M A § &A@ FF-91 fasear § 7
Options :

Presence of paired pharyngeal gill slits

Cranium and vertebral column is cartilaginous

P

5 w FCHTTY # BT T aitaw Fem

Presence of mid digital hair

Presence of mammary glands
HAAT TorEH B gUeI

4. ¢
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Question Label : Multiple Choice Question

In which animal four chambered heart is present ?
e WG § =1 o F g Il &l & 7




Options :
Crocodile

| TSI A

”l_"oad
2. ® EES ﬁ

Zebra fish
3 x o AEE A

Sea horse

o TR
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Question Label : Multiple Choice Question
Lung receives blood from :
g 5, =N o, =
thths @l I U BIdl &
Options :
Left atrium

| % 9 #AffT

Left ventricle

, w M A

Right atrium

Right ventricle
4 o 3
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Question Label : Multiple Choice Question

Which one of the following is associated with blood coagulation ?
ST H HF-A1 ded @ & U9 91 ° g=d § 7
Options :

Fibrinogen

1, v PHIEER

Haemoglobin

2. ®

Albumin

3 ® e ﬁ’i‘.xl

Rennin

-

, % T
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Question Label : Multiple Choice Question

Ostrich belongs to the class :
A= 1 A1 B
Options :

Mammalia

v

1. ®

Reptilia

Archaeopteryxia

LY %

4. %
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Question Label : Multiple Choice Question

The concept of binomial nomenclature was given by :
fem 7Bl & e & oo #
Options :

Lamarck

'\1| ,:IJ

Darwin

2. %

Linneaus
3 v (ST

Watson

4 % ATEET

Question Number : 141 Question Id : 5934528698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The total output of photosynthesis including the organic matter used up in
respuatmn during the period of measurement, is called as :
A #1 oA @ SN 98N § ITEN 5 T e el afEd s S5 #
% I Bl Fel ol ©
Options :
Net primary productivity

1. ® SE': ) ﬂiiH! Jrdleehe

Gross primary productivity
5 o G UM HE Scdlehd



Net community productivity
% T THEEE Seaedhd

3.

Secondary productivity
4 % ATEWRE Il
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Question Label : Multiple Choice Question

Which one of the following ecological pyramids can never be inverted ?
294 § BFA-|1 Wiias TEe #0 of oeer T8t g B 7
Options :
Pyramid of size
1 E F:i ’:I-'“-. ﬂ iI'\"i %

Pyramid of energy

5 o Tl F IS

Pyramid of biomass

Pyramid of number
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Question Label : Multiple Choice Question

In most birds after hatching, the young ones normally begin to follow their
mother. This behaviour is known as :

AlpE e & 9 7§ & AT AT B A IS Fd 8, 36 el @l ed

D

Options :



Imprinting
| BIFRET

Parental care

Trial and error learning
_ T U 3fe § EiEn

Retlex behaviour
4 % UTRIFT Bl
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Question Label : Multiple Choice Question
The lowest temperature at which organism can live is known as :
999 79 dEF 59 W &g 78 9941 B, Fed B
Options :
Minimum temperature
| % "I d9AEE

Minimum critical temperature

Minimum effective temperature
3 o TdiaH STl dreET

Incipient lethal temperature
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Question Label : Multiple Choice Question



Crustaceans are distinguished from insects and myriapodes by the presence of :
FHIS & o= Hiel o FRaEE § [ A E

Options :
Jointed appendages

o T ® T3PS AW R
Number of legs
, % Tel & §E & AR TN

1™ pair of antenna
3 % TRMl & F &3 5 AR W

P pair of antennules
4 v TOGEE & T IR & AR W
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Question Label : Multiple Choice Question
A population is a group of :
STHE HE ©

Options :
Species in a community

, I EE

1.

Individuals of a species in a given area

ZJQEEFIHHTQ?EGHT?T%WEHHHF

Communities in an ecosystem

s 5 TP TSR S H A A FGRE

Individual in a family

4%%{31?_%?%
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Question Label : Multiple Choice Question

The first vertebrates to appear on earth were :
gedl O¢ AN alel T HSeHE W o
Options :

Ostracoderms

ho TR £

1.

Cyclostomes

whui b9 | Y ;

Placoderms

- - =

3. %

Condrichthyes

4o
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Question Label : Multiple Choice Question

Fossil remains of Archaeopteryx were recovered from the rocks of the :
AMBICET & HAiasd 9 T 9
Options :

Jurassic period

- e @A |

Triassic period

N:ﬁquf I Adi H



Palaeozoic era

3.

Pliocene epoch

L feaE= 2 o
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Question Label : Multiple Choice Question

Evolution of sex has been necessary due to :
Options :

Continuation of species
. G P @ A

1.

Generation of variety of characters

2JHWEWWT[%IETWH

Constancy of traits generation after generation

Keeping the population in limit
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Question Label : Multiple Choice Question

Which of the following is an example of transformation of chemical energy to
light energy ?

M # § BN TS St F ST Se # didadd #5138 § f

Options :




Bioluminescence
2T
Hedls -

1. v R R
Autoradiography

). % HACRISIRD

Muscle contraction
5 TTEUST HpE
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Question Label : Multiple Choice Question

The percent of protein available in wheat grains is :

Options :
| % 2830

5 % 2225



Question Number : 152 Question Id : 5934528709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following crop helps in fixing '1tnmspherlc nitrogen in soil ?

F-H BT qal 4 ZrFIHE?r’ni[ EEIA & 92 8 7

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :
Rajmash

1 Tl

Sugarcane

Maize

4.

Question Number : 153 Question Id : 5934528710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



What is the range of correlation coefficient ?
HEHT E F A A Bl o 7
Options :

—1 to +1

1.¥—]H+1

—oo [0 4 oo
—oo _{E{ + oo

All of the three
4 % O H &

Question Number : 154 Question Id : 5934528711 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Pusa Nanha is the variety of :

TH w8l f6H B & T © 7

Options :

Coconut

Guava

Papaya

v

3.¢

Mango

4 % @M



Question Number : 155 Question Id : 5934528712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following crop is used for green manuring ?
P-4l BE B @E & [0 I 2l 8
Options :
Maize

| T

Rice
4

Sugarcane
=T

Sesbhania

ﬁ,—
=]

4. &

Question Number : 156 Question Id : 5934528713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the micronutrient is most useful for enhancing oil content in mustard ?
HIF-HT GeAad dCEl A oo @ AR 98 H ITEE B 7

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :
Boron

=

lﬂ{ﬂ



Sulphur

Question Number : 157 Question Id : 5934528714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

For reclamation of Alkaline soil the farmer can apply ?
Options :
Murate of Potash

| TIC A qe

Urea

.
o

2. %

Lime

3. % AN

Zypsum
El

4.

Question Number : 158 Question Id : 5934528715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



'Gene for gene' hypothesis was proposed by :
S BT S @l U e o ar ?
Options :

Johansen

EIER Bl

1. ®

Flor
2. v T

Thomz_is Fairchild
5 % TE BAEETS

Darwin

ST

4. %

Question Number : 159 Question Id : 5934528716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
'DUS-Test' has been started for testing :
AW e TEe & e e A e v
Options :

Cattle breed

| x T T

Milk purity
5 % LI

Crop varieties
s P HE

[rrigation

4 % 16T



Question Number : 160 Question Id : 5934528717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Open pollination takes place in :
e e # TT-UIETO BT © 7
Options :

Maize

L Hefhl

Wheat

ol

Rice

Pea

4 % X

Question Number : 161 Question Id : 5934528718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Regional Rural Bank in India was established in :
MR H &= W &% wa eniag e @ 7
Options :

| 1965

5 % 1970

3 o 1975

4 » 1980



Question Number : 162 Question Id : 5934528719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is suitable for light soils ?
il # #F-81 B9 8wl Aecl o SUgE & ¢

Options :
Groundnut

s iy

v S

Wheat

Maize
« A9l

Mustard

4, =

Question Number : 163 Question Id : 5934528720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The form of phosphorous in DAP is:
2 U O # SRR e 'Y H 9 S 7
Options :

Phosphide

1. #

Phosphoric acid



Phosphate
3.9
All of the three

4w OFH F

Question Number : 164 Question Id : 5934528721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Well defined rn:lc:leus is found in :
T UreTaT Feed TET S 2
Options :

Eukaryotes

Wﬂﬁ

Prokaryotes

Cyanobacteria

T

W; Fo[i2 ]:["

Bacteria

Question Number : 165 Question Id : 5934528722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Khaira disease in rice is caused b}
99 H ©F T 9 A0 e & 7

Options :



Bacteria

1. o MELG N

Fungi
2, % ot AN

Boron deficiency

Zinc deficiency
foie %l A1 &
7

Question Number : 166 Question Id : 5934528723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The food produced by leaves are transported through :
I =AU | s R s 1 L

Options :

Phellogen

. S, S

Tl

1. %

Xylem

2. %

Ph_loem

3. o TRIEH

Parenchyma

4.

Question Number : 167 Question Id : 5934528724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the h:-]l::-'n.’-.*lncr is responsible for llpEtI]InU of the fruits ?
Ffoiad # B9 %l 3 T H HEEE o 7

Options :
Ethanol
ZeT

1. %

Acetic Acid

., UHieE TH3

Gibberellic Acid

Ethelene

4.\;/1'5917:“:[

Question Number : 168 Question Id : 5934528725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Golden rice is known for :

w2 a/ae [FEae 7 Al © 7
Options :

High Vitamin A
A fqeidT T & g

1. ¢
High protein

High Zinc
o A e % e



HighIron

Question Number : 169 Question Id : 5934528726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Mutation is generally :
:I'Eq ~.’:|\ H‘m: ’j‘:’il EJE | -E r
Options :

Dominant and harmftul

- ol U FEreE

Recessive and harmful
, o Tl Ul PR

Dominant and useful
qEl J S9ER

3. %

Recessive and useful
L AAET FA SR

Question Number : 170 Question Id : 5934528727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Browning symptom in cauliflower is due to deficiency of :
eI 7 O ey R B A S 7
Options :
Zinc

1. %



Molybdenum

4, %

Question Number : 171 Question Id : 5934528728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Grasshopper belongs to order :

Options :
Lepidoptera
SIRE] ks

1. %

Orthoptera

2. ¥

[soptera
3 % FRHEICT

Blattodea

-

T

Question Number : 172 Question Id : 5934528729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



How many ATP is net gained during citric acid cycle of aerobic respiration of
one glucose ?

UF WH & A 3 fdigd UEs 9% 3 SRW o ATP A U B § 7
Options :

| % 30

24
2. ¢

12
3. %

More than one

Question Number : 173 Question Id : 5934528730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When a cell is placed in hypotonic solution then its size :
A U ISR SRUClS [Ge@ § Sl 8, df 36 AN
Options :

Decreases

Gy |

increases
, @ TG T

Remains unchanges

First increases and then decreases
4w TG I 2, Tt oedl 2

Question Number : 174 Question Id : 5934528731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The yellowish colour in cow milk is due to :
T % ga # dme EE R B 6 7
Options :

Carotene

1, v PUCH

Fat
) % ddl

Lactose

3.HW

Casein

4w DU

Question Number : 175 Question Id : 5934528732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

"SRI — cultivation’ is concerned with :
‘TH AW @R Feeldes [HEd S F 7
Options :

Rice

E

L 3I5]
Wheat

L
[ =

2. %

Maize
3, % HID

Barley

>,

g, %



Question Number : 176 Question Id : 5934528733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The seed rate (kg/ha) of hybrid rice is :
HET U F1 9 &7 (o /Bo) FT & 7
Options :

1.\./]’2—]:':

25-30

2. %

Question Number : 177 Question Id : 5934528734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is known as assimilatory power of dark reaction of

photosynthesis :
= H § UIST HYSYT bl AW AR & R dHar &4 Fed © ¢
Options :

RUDP & RUMP

| % -Hﬁo?péToﬁTm AT 'HTF:O?FJUHO&TO

Water and oxygen

ATP & NADPH

, Totlodlo M THolodloToldo
3.4



ADP and Pi
Todiolio AN TodlFo

4, =

Question Number : 178 Question Id : 5934528735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Thb mmhbilny of zinc to p]ants become a complex pmblum at pH :
ot # o # Sumerd e 01 ta W Al §Fen 3 9l 8 7

Options :

4 >7.0

Question Number : 179 Question Id : 5934528736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Best time of sowing mustard is :
Options :

October

L 'H’}Ia 7

November

, s AT

December
el

3. %



Question Number : 180 Question Id : 5934528737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The diameter of clay soil particle is :
Fepeil fedl @ F1 #1 &9 F © ¢
Options :

Less than 0.002 mm
| 0.002 HH | ®H

0.002 mm to 0.05 mm
, % 0.002 T & 0.05 fA#ll

0.05 mm to 2.0 mm

y x 0.05 T & 2.0 it

Larger than 2.0 mm
4 % 20T & S

Question Number : 181 Question Id : 5934528738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Yellow leaf curl virus in tomato is transmitted by :
ZHlEY # Il wF e aEee [BEE 8N bl Al s

Options :
Aphid
el

1. %



Whitetly

) Hhe HHl

Honey bee

3 % 9 gl

Termite
4, % ST

Question Number : 182 Question Id : 5934528739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Beetle is the insect of order :
Options :
Coleoptera
L Pl AT
Lepidoptera

Hemiptera

0w TN

3. % B

Thysanoptera

Question Number : 183 Question Id : 5934528740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Element responsible for maintaining cell turgor is :
SO FHNSH AT & o SOeidd o ©




Options :

Question Number : 184 Question Id : 5934528741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The headquarter of Central Agmark Laboratory is situated at :
Heald GHEE TERETE 5 G 56l & 7
Options :

New Delhi

| T

Lucknow
2. % T

Ahmdabad

Question Number : 185 Question Id : 5934528742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Olericulture is related with :
Options :
Flowers

Vegetables

R

3.¢

Pulses
L

Question Number : 186 Question Id : 5934528743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which part of the cell works as collection and dispatch station of protein
products ?

FINEH F1 FE-81 TN WM S0 §Fad Ud a8 F F8 3l © 7
Options :

Golgibody

1.¥

Vacuole

5 s R

Mitochondria

3, % FRCIHI

Endoplasmic reticulum



Question Number : 187 Question Id : 5934528744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The Anthrax disease in cattle is caused by :
Aasl & T=EE U9 FE% g1 el §
Options :

Virus

1. s

Bacteria

2w ]

Fungus

e

Mutation

W '~.l". :Irl .!-.a\

4,

Question Number : 188 Question Id : 5934528745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the following is the disc angle of a plough ?
Options :

L% | 5% 25"

, % 30°—40°
0 _ 4RO
L 445
48° - 52°



Question Number : 189 Question Id : 5934528746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Continuous use of urea makes the soil :
AN % TIAR TG0 § Fedl T F 9E 0S5 § 7
Options :
Acidic
1 v HRIH

Alkaline
I E

Neutral

3. % "3K"

None of the three
, w QR & & @

Question Number : 190 Question Id : 5934528747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Yellow colour in Turmeric is caused due to the presence of :
Options :
Boron

EIEiE

1. %

Curcumin

2. J rﬁ;\r-F. \]:l:'



Comoplastid

4 % DIANIES

Question Number : 191 Question Id : 5934528748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is Inter-cropping ?
Options :
[t is the time period between two cropping seasons

It is growing of two or more crops in random mixture
, % TEDE WY A T A1 E F i e F ST

[t is growing of two or more crops in definite row patterns

3¢ﬁmﬁﬁ-ﬂfﬁiﬁﬂf?ﬂ%ﬁﬁﬁﬂﬂﬁﬂmn 7 304

It is growing of different crops on a piece of land in a preplanned succession
4 % U Tdadl SUUHR # T % Th ghHd T AH-4T Bl 5 &7 H I

Question Number : 192 Question Id : 5934528749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The hybrid mango developed from the cross of Neelum and Alphonso is :
HeHl AT FeFE & FE H [T BEEE A DE-E & 7
Options :
Amrapali
| x SR

Dasheri
, % 9Bl



Ratna
3. \“/ _“-'\-_‘-[

Badami
4 % I

Question Number : 193 Question Id : 5934528750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
White bud in maize is caused due to the deficiency of :
H7T H Hhe Fail (@l B & B Iod Bl 2 ¢
Options :

Zinc

i'\u::l r F-"

l.¢

Ammonium

g

[ron

Sulphur
4 %GBT

Question Number : 194 Question Id : 5934528751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The most popular fertilizer for foliar application is :
79 AT % o0 HeH @Ed 39 HM-A1 2 ¢
Options :

Potassium

=, =

1. %



Phosphate

Question Number : 195 Question Id : 5934528752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the following pairs is not correctly matched ?
=1 & & FH-91 7131 961 27 § A 7@ @ & ¢

Options :

Cuscuta — stem parasite
| s DEFC - T Gl

Chandan — root pdmsite

2.33_-17'7{ ?F:-'W

Dm]nds — Lpiphyle
3. % A3 — ERIES

Nepenthes - h}droph}te
4, v THTH - BRFIPRE

Question Number : 196 Question Id : 5934528753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The practice of raising grazing livestock such as cattle or sheep for meat or wool
is known as :

TR UFA F U o] HASl AT WP, HE A F9 B (¢ i 9Tl FT Fod & ?



Options :
Silviculture

O

o ’.l.
1, RiiREPeR

Permaculture

L% %,

Ranching
3.0 M
Breeding

4 % T

Question Number : 197 Question Id : 5934528754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

White rust is an important fungal disease of :

Options :
Wheat

1. % c

Mustard
- qIHE &

Rice
. dlded bl
3. %

Bajra

4, % TOIRT I

Question Number : 198 Question Id : 5934528755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Botanically pineapple is a :
IETaE ®9 § AT P B
Options :

Pome

e

1. %

Baluster

Sorosis

e

4 o ST

Question Number : 199 Question Id : 5934528756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The average gestation period in buffalo is of how many days ?
9 #1 AT TR # a6 [ @ a8 7

Options :

|« 310

210

2. %

5 x 400

4w 345

Question Number : 200 Question Id : 5934528757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Photorespiration is inhibited by :

e T T e

Note: For this question, discrepancy i1s found in
question/answer. Full Marks 1s being awarded to all
candidates.

Options :

2, 4- Dinitrophenol
2, 4 - AR

1.

o-hydroxy sulphonates

CMU and DCMU
CMU #AX DCMU

p-hydroxy amides



